राजस्थान सरकार वन विभाग

क्रमांक प. प. 1 (48) वन / 2019-001141

जयपुर, दिनांक :--

सहायक महानिरीक्षक, (एफ.सी.डिवीजन), भारत सरकार पर्यावरण, वन एवं जलवायु परिवर्तन मंत्रालय, इंदिरा पर्यावरण भवन, अलीगंज, जोर बाघ रोड, नई दिल्ली—110003

বিষয:— Proposal for diversion of 286.47 ha. of forest land in favour of Executive Engineer, Water Resource Division III, Baran for Construction of Hathiyadeh Medium Irrigation project in Baran district, Rajasthan State (Proposal No. - FP/RJ/IRRI/27263/2017)

संदर्भ:— आपका पत्रांक File No.8-34/2019-FC दिनांक 04.02.2021

महोदय,

उपरोक्त विषयान्तर्गत संदर्भित पत्र के क्रम में प्रधान मुख्य वन संरक्षक, प्राटेक्शन एवं नोडल अधिकारी एफसीए, राजस्थान, जयपुर के पत्रांक क्रमांक 14 (170/17)2017/एफसीए/प्रमुवस/2684 दिनांक 04.10.2024 द्वारा प्रेषित बिन्दुवार प्रत्युत्तर इस कार्यालय की सहमति सहित प्रेषित कर अनुरोध है कि विषयाकित प्रस्ताव के संबंध में आवश्यक स्वीकृति शीध्र जारी करवाने का श्रम करावे।

भवदीय,

संलग्नः-उपरोक्तानुसार

(बीजो जॉय) विशिष्ट शासन सचिव,

Document certified by BIJO JOY <Joybijo@gmail.com

Digitally Signed by Bijo Joy Designation: Special Secretary To Covernment Date: 04-10-2024 02:47:24

कार्यालय प्रधान मुख्य वन संरक्षक (वन बले प्रमुख) राजस्थान,

अरण्य भवन, झालाना सांस्थानिक क्षेत्र, जयपुर—302004 ई-मेल-cc.fca.rajasthan@gmail.com Tel. No. 0141-2713949

क्रमांकः एफ. 14(170/17)2017 / एफसीए / प्रमुवसं 🕼 省 ५

दिनांक 4/10/24

विशिष्ठ शासन सचिव, वन, पर्यावरण एवं जलवायु परिवर्तन मंत्रालय, राजस्थान सरकार, शासन सचिवालय, जयपुर

चिषय – Diversion of 286.47 ha. of forest land in favour of Executive Engineer, Water Resource Division III, Baran for construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State. (Proposal No. FP/RJ/IRRI/27263/2017)

संदर्भ: - उप वन महानिदेशक (केन्द्रीय), भारत सरकार, पर्यावरण, वन एवं जलवायु परिवर्तन मंत्रालय, इन्दिरा पर्यावरण भवन, अलीगंज, जोरबाग रोड, नई दिल्ली के पत्रांक 8-34/2019-FC दिनांक 04.02.2021 के क्रम में।

महोदया,

उपर्युक्त विषयान्तर्गत संदर्भित पत्र के क्रम में आलोच्य प्रकरण में चाही गई सूचना मुख्य वन संरक्षक, कोटा का पत्रांक 1070 दिनांक 21.02.2023 से प्राप्त कर निम्नानुसार प्रेषित हैं:—

क्र.स.	आक्षेप	अनुपालना
i	The approved Catchment Area Treatment (CAT) Plan with the estimated cost of the plan and approved R&R plan as sought vide Ministry's letter dated 11.12.2019 have not been submitted.	यूजर ऐजेन्सी द्वारा जल संसाधन विभाग से अनुमोदित केट प्लान राशि 204.52 लाख का प्रस्तुत किया गया है जो पार्ट । के बिन्दु संख्या एम पर संलग्न है। यूजर ऐजेन्सी द्वारा दरों में बदलाव होने की स्थिति में आवयश्क धनराशि जमा कराने की वचनवद्वता संलग्न कर दी गयी है। यूजर ऐजेन्सी द्वारा अनुमोदित R&R plan पार्ट। के बिन्दु संख्या एफ पर संलग्न है।
а	In SIR done by Integrated Regional office,	
b	In some part of area proposed for compensatory afforestation encroachment is observed on Google overlay of shape files provided. Therefore, site suitability of compensatory afforestation is to be re assessed and if need be additional compensatory afforestation patch to compensate the loss of proposed forest diversion may be pledged.	यूजर ऐजेन्सी द्वारा अतिक्रमणयुक्त भूमि हटायी जाकर नवीन भूमि इकलेरासागर (17.66 है0) एवं नचनाखेडा (26.336 है0) आबंटित की गयी है। संशोधित स्थल उपयुक्तता प्रमाण पत्र संलग्न है।
c	Out of proposed compensatory afforestation patches, 44 ha of non-forest land is falling under submergence area of proposed Navnera barrage.	उप वन संरक्षक बांरा द्वारा अवगत कराया है कि नौनेरा बैराज प्रकरण में 119.409 हैक्टर भूमि वन विभाग को सेट अपार्ट की गई थी जिसमें से MoEF के पत्र दि. 26.08.2021 से 75.41 हैक्टर भूमि की ही प्रत्यावर्तन हेतु स्वीकृति दी गई है। अतः शेष 44 हैक्टर भूमि जिला कलेक्टर बारा के आदेश क्रमांक एफ-राज0/ 11066-77 दिनांक 17.11.2022 ग्राम तिखोद व पाटुन्दा तहसील अन्ता में उक्त परियोजना (हथियादेह सिंचाई परियोजना) हेतु समायोजन की स्वीकृति

		. 011 1	उप वन संरक्षक बारा द्वारा पार्ट।। में पेड़ो
C	1	The number of trees/poles to be felled	
		mentioned in the Part-II (online) are at	की गणना संशोधित कर गणना रिपोर्ट
		variance with the number given in the list	संलग्न कर दी गई है।
		attached with the proposal.	
i		Muck Calculation and muck disposal	यूजर ऐजेन्सी द्वारा अवगत कराया गया है
	`	scheme needs to be submitted with the	कि उक्त प्रकरण में कोई मक सृजित नही
	1	proposal.	होगा इस हेतु वचनवद्वता संलग्न कर दी
			गरी है।
-	i	The total cost outlay of the project in the	पार्ट । में वांछित संशोधन कर दिया गया है
II	1	Part-1 is 232.5 lakhs whereas the Cost	प्रोजेक्ट कास्ट 23250.00 लाख है। जिसमें
		Benefit Analysis provided with the	एन०पी०वी० राशि शामिल है। संशोधित
		proposal mentions the cost of construction	लागत लाभ विश्लेषण संलग्न कर दिया गया
		as 19602 lakhs,	
	,		हैं।
iv	٧.	In few patches of pledged non-forest land	उप वन संरक्षक बारा द्वारा अवगत कराया है
1 ' '	٠	for compensatory afforestation dense	कि प्रकरण में 286.47 है0 गैर वन भूमि प्राप्त
		forest is observed which may not be	
1		suitable for planting 1,000 nos per ha as	हुई है एवं 300 है0 पारिभ्राषित वन भूमि पर
		provided in para 2.8(i) of Handbook of	वृक्षारोपण लिया गया है। गैर वन भूमि एवं
		FCA-1980. Therefore, to plant out	पारिभ्रषित वन भूमि के स्थल उपयुक्तता
		remaining saplings in degraded forest land	प्रमाण पत्र एवं क्षतिपूर्ती वृक्षारोपण योजना
		details of locations are to be provided. If	
	1	possible the kml files of the proposed	पार्ट ।। में संलग्न कर दी गयी है।
	-	degraded forest land shall be submitted.	
	1	Draine Toron Imita Dilair of Datofillitoa.	

संलग्नः-उपरोक्तानुसार।

भवदीया,

्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्टिंग्ट्रिक्ट्रिक्टिंग्ट्रिकेटिंग्ट्रिकेटिं

राजस्थान, जयपुर

क्रमांकः एफ. 14(170/17)2017 / एफसीए / प्रमुवसं. /**१८८५** - हुन् प्रतिलिपि:—निम्नांकित को सूचनार्थ एवं आवश्यक कार्यवाही हेतु प्रेषित है।

दिनांक 4/10/24

- 1. मुख्य वन संरक्षक, कोटा।
- 2. उप वन संरक्षक, बारां।
- 3. अधिशाषी अभियंता, जल संसाधन विभाग, खण्ड—बारां।

(दिनेश कुमार गुप्ता) उप वन संरक्षक (एफ.सी.ए.) अरण्य भवन, जयपुर

4/11/24

Full Title of the Project: Hathiayadeh Medium Irrigation Project (286.47 ha)

(Proposal no. FP/RJ/IRRG/27263/ 2017)

NFL 59.6 ha. LAND SUITABILITY CERTIFICATE

This is to certify that the NFL forest land lying in Forest Block Tikhod and Patunda bearing khasra no. 2463/2, 2465/8, 9, 2451/10,204,317 in village **Tikhod and Patonda** Tashil **Anta** district Baran **having total area 59.6 ha** has been identified for Compensatory Afforestation. The land is suitable for plantation from management point of view and is free from all sorts of encumbrances and encroachments.

(Signature)
Name :- Anil yadav

Designation :- DCF Baran

Full Title of the Project: Hathiayadeh Medium Irrigation Project (286.47 ha)

(Proposal no. FP/RJ/IRRG/27263/ 2017)

NFL 86.40 ha. LAND SUITABILITY CERTIFICATE

This is to certify that the NFL forest land lying in Forest Block Tikhod and Patunda bearing khasra no. 56,57,58, 59,60,61, 63,547/64,546/80,81,82, 1337,1360,1397,2377and 1398 in village **Tikhod** Tashil **Anta** district Baran having total area 86.40 has been identified for Compensatory Afforestation. The land is suitable for plantation from management point of view and is free from all sorts of encumbrances and encroachments.

(Signature)

Designation :- DCF Baran

Full Title of the Project: Hathiayadeh Medium Irrigation Project (286.47 ha)

(Proposal no. FP/RJ/IRRG/27263/2017)

DFL 126 ha. LAND SUITABILITY CERTIFICATE

This is to certify that the DFL forest land lying in nofied Forest Block Banjh amali bearing khasra no. 20,21,22,23,24,63,64,65,66,67 and 68 in village **Chunwaya** Tashil **Kishanganj** district Baran having totalArea 126 ha has been identified for Compensatory Afforestation. The land is suitable for plantation from management point of view and is free from all sorts of encumbrances and encroachments.

Name :- Anil yadav

Designation :- DCF Baran

Full Title of the Project - Proplosal for Diversion of 286.47 ha of forest land in favour of
Executive Enginer, Water Resource Division III, Baran Construction of
Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan
State-reg. (Proposal no:- FP/RJ/IRRIG/27263/2017)

LAND SUITABILITY CERTIFICATE CHECK LIST SERIAL NUMBER: 20

This is to Certify that 105 ha DFL forest land forest Block jaiswan A in bearing khasra no. 47,48,84,85,86,87,100,118,119,120 village jaiswan tashil kishanganj district baran DFL is identified for compensatory afforestation (DFL) is suitable for plantation and from management point of view and is free and all sorts of encumbrances and encroachments.

Place: Baran

(Signature)

Date :-

Name :- Anil Yadav
Designation :- DCF Baran
Official Seal.....

E/ Hathiyadeh Project 286. 47 ha FCA 92002-2 Bigitally signed by Arill Conservator Of Designation Reputy Conservator Of Forest 108:28 IST

Scanned with CamScanner

Full Title of the Project - Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III , Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

DFL 69 ha LAND SUITABILITY CERTIFICATE CHECK LIST SERIAL NUMBER: 20

This is to Certify that 69 ha DFL forest land forest Block Gopalpura premnagar in bearing khasra no. 490,491,492,493,494,495,552 village Gopalpura or khasra no. 2,3,4,5 village Ranwasa tashil kishanganj district baran DFL is identified for compensatory afforestation (DFL) is suitable for plantation and from management point of view and is free and all sorts of encumbrances and encroachments.

Place: Baran

(Signature)

Date :-

Name :- Anil Yadav
Designation :- DCF Baran
Official Seal.....

E/ Hathiyadeh Project 286. 47 ha FCH 2022-Digitally signed by Arill Comary aday Designation Deputy Conservator Of Forest Date: 2024.08.86 15:08:28 IST Reason. Approved Scanned with OKEN Scanner

Full Title of the Project - Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. .(Proposal no :- FP/RJ/IRRIG/27263/2017)

LAND SUITABILITY CERTIFICATE

CHECK LIST SERIAL NUMBER: 20

This is to Certify that 26.336 ha NFL forest land forest Block Nachanakhera in bearing khasra no. 196,197,198,200,201,209,210,211 village Nachanakhera tashil shahabad district baran NFL is identified for compensatory afforestation (NFL) is suitable for plantation and from management point of view and is free and all sorts of encumbrances and encroachments.

Place: Baran

(Signature)

Date :-

Name :- Anil Yadav Designation :- DCF Baran Official Seal.....

Signature yalid

E/ Hathiyadeh Project 286. 47 ha FCA 2022 esignation Deputy Jonsen

18:08:28 IST

Full Title of the Project - Proplosal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no: FP/RJ/IRRIG/27263/2017)

LAND SUITABILITY CERTIFICATE

CHECK LIST SERIAL NUMBER: 20

This is to Certify that 26.336 ha NFL forest land forest Block Nachanakhera in bearing khasra no. 196,197,198,200,201,209,210,211 village Nachanakhera tashil shahabad district baran NFL is identified for compensatory afforestation (NFL) is suitable for plantation and from management point of view and is free and all sorts of encumbrances and encroachments.

Place: Baran

(Signature)

Date:-

Name :- Anil Yadav
Designation :- DCF Baran
Official Seal......

Signature yalid

E/ Hathiyadeh Project 286. 47 ha FCA526922-23 gitally signed by Anil 29 and Open Designation Deputy Conservator Open Servet Co

Full Title of the Project - Proplosal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

LAND SUITABILITY CERTIFICATE CHECK LIST SERIAL NUMBER: 20

This is to Certify that 17.66 ha NFL forest land forest Block Eklerasagar in bearing khasra no. 257 village Eklerasagar tashil kishanganj district baran NFL is identified for compensatory afforestation (NFL) is suitable for plantation and from management point of view and is free and all sorts of encumbrances and encroachments.

Place: Baran

(Signature)

Date :-

Name :- Anil Yadav Designation: - DCF Baran Official Seal.....

> Signature yalid 8:08:28 IST

E/ Hathiyadeh Project 286. 47 ha FCA 202 Digitally signed by Arit And Designation Designation Designation Reputy onset

Date: 2024.08.

. Approved with OKEN Scanner Reason: Approved

Full Title of the Project - Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

LAND SUITABILITY CERTIFICATE

CHECK LIST SERIAL NUMBER: 20

This is to Certify that 96.50 ha NFL in bearing khasra no. 2453/1025, 2455/1026, 2457, village Eklerasagar tashil kishanganj district baran NFL is identified for compensatory afforestation (NFL) is suitable for plantation and from management point of view and is free and all sorts of encumbrances and encroachments.

Place: Baran

(Signature)

Date :-

Name :- Anil Yadav Designation :- DCF Baran Official Seal.....

Signature y RajKaj Ref

E/ Hathiyadeh Project 286. 47 ha FCA 2022 Digitally signed by Anil Remarlyaday Conservator Of

Date: 2024.08.86 16:08:28 IST

Reason: Approve

Proplesal for Diversion of 286.47 ha of forest land in favour of Txecutive Enginer, Water Resource Division III , Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

ir. No.	Details of Work	NFL 86.40 hn Rate Per Hectare	Land (NFL) Area (In Ha)	Amount (In Rupees)
	0 Years (Advance Action)	116085	86.40	10029744
1		129875	86.40	11221200
3	1st Year (Planting Year) 2nd Year Maintenance (Year- 2)	48263	86.40	4169923
4	2nd Year Maintenance (Year-	15763	86.40	1361923
5	Subsequent Maintenance (Year-4)	2971	86.40	256694
6	Subsequent Maintenance (Year-5)	3079	86.40	266026
7.	Subsequent Maintenance (Year-6)	3187	86.40	. 275357
\$	Subsequent Maintenance (Year-7)	3187	86.40	275357
9	Subsequent Maintenance (Year-8)	3187	86.40	275357
10	Subsequent Maintenance (Year-9)	3187	86.40	275357
11	Subsequent Maintenance (Year-10)	3187	86.40	275357
12	Subsequent Maintenance (Year-11)	3187	86.40	275357
13	Subsequent Maintenance (Year-12)	3187	86.40	275357
	Amount for CA (As per Approved Model) 198000/- per Ha		Round off Amount as per CA Model (NFL)/-	29233008

Note:- प्रत्यावर्तित भूमि <u>86.40</u> है0 है परन्तु दो तिहाई भाग पर जुलिपलोरा होने से वृक्षारोपण कराया जाना क्षेत्र नहीं है। परन्तु सम्पूर्ण प्राप्त गैर वन भूगि का उपचार कराया जायेगा। वृक्षारोपण हेतु अवशेष भूगि पर अगठह पौधों का वृक्षारोपण NFL मॉडल से कराया जायेगा एवं अवशेष पोधों का वृक्षारोपण परिआषित यन भूगि पर DFL मॉडल के अनुसार कराया जायेगा।

उप वन संरक्षक वरां

RajKaj Ref 9554557



Signature yalid

Digitally signed by Anil Kumar Yadav Designation : Reputy Conservator Of

Date: 2024.08.86 16:13:56 IST Reason: Approved

Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water esource Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran istrict, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

	asthan State-reg. (Proposal n	DFL 69 ha Rate Per Hectare	Land (DFL) Area	Amount (In Rupees)
Sr. No.	Details of Work		(In Ha)	3164754
	0 Years (Advance Action)	45866	69.00	6354348
1	1st Year (Planting Year)	92092	69.00	2410308
2	2nd Year Maintenance (Year-	34932	69.00	2410308
3	2)		69.00	882372
4	2nd Year Maintenance (Year- 3)	12788		268617
5	Subsequent Maintenance	3893	69.00	
	(Year-4) Subsequent Maintenance	4027	69.00	277863
6	(Year-5)		69.00	287178
7	Subsequent Maintenance (Year-6)	4162	69.00	287178
8	Subsequent Maintenance	4162	69.00	
0	(Year-7)		69.00	287178
9	Subsequent Maintenance (Year-8)	4162	05.00	287178
	Subsequent Maintenance	4162	69.00	28/1/8
10	(Year-9)		69.00	287178
11	Subsequent Maintenance (Year-10)	4162		287178
12	Subsequent Maintenance (Year-11)	4162	69.00	287178
	Subsequent Maintenance	4162	69.00	
13	Subsequent Mantenance (Year-12)	4102	Round off	15368508
	Amount for CA (As per Approved Model) 198000/- per Ha		Amount as per CA Model (DFL)/-	

उप वन संरक्षक वरां

RajKaj Ref 9554557

Signature yalid

Digitally signed by Anil Yumar Yadav Designation Deputy Conservator Of Designation Designa

Date: 2024.08.86 18:13:56 IST Reason: Approved

Proplosal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III ,Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (-Proposal no :- FP/RJ/IRRIG/27263/2017)

11	ra i	126	Lon
1)	ı, i	120	1141

Sr. No.	Details of Work	Rate Per Hectare	Land (DFL) Area (In Ha)	Amount (In Rupees
			126.00	5779116
1	0 Years (Advance Action)	45866		11603592
2	1st Year (Planting Year)	92092	126.00	
3	2nd Year Maintenance (Year- 2)	34932	126.00	4401432
4	2nd Year Maintenance (Year- 3)	12788	126.00	1611288
5	Subsequent Maintenance (Year-4)	3893	126.00	490518
6	Subsequent Maintenance (Year-5)	4027	126.00	507402
7	Subsequent Maintenance (Year-6)	4162	126.00	524412
8	Subsequent Maintenance (Year-7)	4162	126.00	524412
9	Subsequent Maintenance (Year-8)	4162	126.00	524412
10	Subsequent Maintenance (Year-9)	4162	126.00	524412
11	Subsequent Maintenance (Year-10)	4162	126.00	524412
12	Subsequent Maintenance (Year-11)	4162	126.00	524412
13	Subsequent Maintenance (Year-12)	4162	126.00	524412
	Amount for CA (As per Approved Model) 198000/- per Ha		Round off Amount as per CA Model (DFL)/-	28064232

उप वन संरक्षक वरां

RajKaj Ref 9554557

Signature yalid

Digitally signed by Anil Xumar Yaday Designation Reputy Conservator Of

Forest Date: 2024.08.86 16:13:56 IST

Reason: Approved

Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III ,Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

DEL LOS L

Sr. No.	Details of March	DFL 105 ha	1	Amount (in Rupees)
31. 140.	Details of Work	Rate Per Hectare	Land (DFL) Area (In Ha)	
1	0 Years (Advance Action)	45866	105 00	4815930
2	1st Year (Planting Year)	92092	105.00	9669660
3	2nd Year Maintenance (Year- 2)	34932	105.00	3667860
4	2nd Year Maintenance (Year- 3)	12788	105.00	1342740
5	Subsequent Maintenance (Year-4)	3893	105.00	408765
6	Subsequent Maintenance (Year-5)	4027	105.00	422835
7	Subsequent Maintenance (Year-6)	4162	105.00	437010
В	Subsequent Maintenance (Year-7)	4162	105.00	437010
9	Subsequent Maintenance (Year-8)	4162	105.00	437010
10	Subsequent Maintenance (Year-9)	4162	105.00	437010
11	Subsequent Maintenance (Year-10)	4162	105.00	437010
12	Subsequent Maintenance (Year-11)	4162	105.00	437010
13	Subsequent Maintenance	4162	105.00	437010 23386860
	(Year-12) Amount for CA (As per Approved Model) 198000/- per Ha		Round off Amount as per CA Model (DFL)/-	

उप यन संरक्षक वरां

RajKaj Ref 9554557

Signature yalid

Digitally signed by Anil Lumar Yadav Designation Deputy Conservator Of umar Yadav

Date: 2024.08.86 3:13:56 IST Reason: Approved

proplosal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Proplosar B. Executive Enginer, Water Resource Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran Resource Division State-rep. (Proposal po t. ED/D Laboration Project in Baran Resource Proposal no :- FP/RJ/IRRIG/27263/2017)
District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

r. No.	Details of Work	Rate Per Hectare	Land (NFL) Area (In Ha)	Amount (In Rupees)
1	trance Action)	116085	96.50	11202203
1	0 Years (Advance Action)	129875	96.50	12532938
2	1st Year (Planting Year) 2nd Year Maintenance (Year-	48263	96.50	4657380
4	2) 2nd Year Maintenance (Year-	15763	96.50	1521130
	Subsequent Maintenance	2971	96.50	286702
	(Year-4) Subsequent Maintenance	3079	96.50	297124
6	(Year-5) Subsequent Maintenance	3187	96.50	307546
7	(Year-6) Subsequent Maintenance	3187	96.50	307546
8	(Year-7)		96.50	307546
9	Subsequent Maintenance (Year-8)	3187	96.50	307546
10	Subsequent Maintenance (Year-9)	3187	96.50	307546
11	Subsequent Maintenance (Year-10)	3187		307546
12	Subsequent Maintenance (Year-11)	3187	96.50	307546
13	Subsequent Maintenance (Year-12)	3187	96.50	32650293
	Amount for CA (As per Approved Model) 198000/- per Ha		Round off Amount as per CA Model (NFL)/-	

Note:- प्रत्यावर्तित भूमि 96.50 है0 है परन्तु दो तिहाई भाग पर जुलिपलोरा होने से वृक्षारोपण कराया जाना संभव नहीं है। परन्तु सर्म्पूण प्राप्त गैर वन भूमि का उपचार कराया जायेगा। वृक्षारोपण हेतु अवशेष भूमि पर 35416 पौंधों का वृक्षारोपण NFL माडल से कराया जायेगा एवं अवशेष पोंधों का वृक्षारोपण परिभ्रापित वन भूमि पर DFL माडल के अनुसार कराया।

उप वन संरक्षक बरां

RajKaj Ref 9554557

Signature yalid

Digitally signed by Anil Jumar Yadav Designation Deputy Conservator Of

Date: 2024.08.86 18:13:56 IST Reason: Approved Scanned with OKEN Scanner

Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III ,Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

	Darrie of Work	NFL 59.6 ha	Land (NFL) Area	Amount (In Rupees
Sr. No.	Details of Work	Note / C	(In Ha)	6918666
	(Advance Aglian)	116085	59.60	
1	0 Years (Advance Action)	129875	59.60	7740550
2	1st Year (Planting Year)		59.60	2876475
3	2nd Year Maintenance (Year- 2)	48263	59.60	
4	2nd Year Maintenance (Year-	15763	59.60	939475
	3) Subsequent Maintenance	2971	59.60	177072
5	(Year-4)	2971		
6	Subsequent Maintenance	3079	59.60	183508
	(Year-5) Subsequent Maintenance		59.60	189945
7	(Year-6)	3187	33.00	4.000.45
8	Subsequent Maintenance	3187	59.60	189945
	(Year-7)	-	59.60	189945
9	Subsequent Maintenance (Year-8)	3187	33.00	
10	Subsequent Maintenance	3187	59.60	189945
10	(Year-9)			189945
11	Subsequent Maintenance	3187	59.60	1000
	(Year-10) Subsequent Maintenance	2107	59.60	189945
12	(Year-11)	3187		
	Subsequent Maintenance	3187	59.60	189945
13	(Year-12)		Round off	20165362
	Amount for CA (As per		Amount as per CA	4
	Approved Model) 198000/-		Model (NFL)/-	
	per Ha			

Note:- प्रत्यावर्तित भूमि 59.60 है0 है परन्तु दो तिहाई भाग पर जुलिफ्लोरा होने से वृक्षारोपण कराया जाना संभव नहीं है। परन्तु सम्पूर्ण प्राप्त गैर वन भूमि का उपचार कराया जायेगा। वृक्षारोपण हेतु अवशेष भूमि पर 10863 पौधों का वृक्षारोपण NFL माडल से कराया जायेगा एवं अवशेष पोधों का वृक्षारोपण परिभ्राषित वन भूमि पर DFL माडल के अनुसार कराया जायेगा।

उप वन संरक्षक बरां

RajKaj Ref 9554557

Signature yalid

Digitally signed by Anil Jumar Yadav Designation / Reputy Conservator Of

Forest 6:13:56 IST Reason: Approved

proplosal for Diversion of 286:47 ha of forest land in favour of Executive Enginer, Water Division III, Baran Construction of Hathiyadals Madissan Landing Proplosal for Division III, Baran Construction of Hathiyadeh Medium Irrigation Project in Baran Resource Division State-reg. (Proposal no :- EP/D I/IP DICERSON Project in Baran Construction of the Proposal no in the Propos Resource 1777 Re

District		NFL 26.336 ha		
	T Details of Work	Rate Per Hectare	Land (NFL) Area	Amount (In Rupees)
Sr. No.			(In Ha)	4407050
	0 Years (Advance Action)	156719	26.34	4127352
1	1st Year (Planting Year)	132050	26.34	3477669
2	2nd Year Maintenance (Year- 2)	50532	26.34	1330811
4	2nd Year Maintenance (Year-	18126	26.34	477366
5	Subsequent Maintenance (Year-4)	5429	26.34	142978
6	Subsequent Maintenance (Year-5)	5631	26.34	148298
7	Subsequent Maintenance (Year-6)	5834	26.34	153644
8	Subsequent Maintenance (Year-7)	5834	26.34	153644
9	Subsequent Maintenance (Year-8)	5834	26.34	153644
10	Subsequent Maintenance (Year-9)	5834	26.34	153644
11	Subsequent Maintenance (Year-10)	5834	26.34	153644
12	Subsequent Maintenance (Year-11)	5834	26.34	153644
13	Subsequent Maintenance	5834	26.34	153644
	(Year-12) Amount for CA (As per Approved Model) 198000/- per Ha		Round off Amount as per CA Model (NFL)/-	10779983

Note:- प्रत्यावर्तित भूमि <u>26.336</u> है0 है परन्तु दो तिहाई भाग पर प्राकृतिक सघन वन होने से वृक्षारोपण क्राया जाना संभव नही है। परन्तु सम्पूर्ण प्राप्त गैर वन भूमि का उपचार कराया जायेगा। वृक्षारोपण हेतु अवशेष भूमि पर 9665 पौधों का वृक्षारोपण NFL मॉडल से कराया जायेगा एवं अवशेष पोधों का वृक्षारोपण परिभाषित वन भूमि पर DFL मॉडल के अनुसार कराया जायेगा

> उप वन संरक्षक बरां

RajKaj Ref 9554557

Signature yalid

Digitally signed by Anil Yumar Yadav Designation Reputy Conservator Of

Forest Date: 2024.08.86 16:13:56 IST Reason: Approved

Prop[osal for Diversion of 286.47 ha of forest land in favour of Executive Enginer, Water Resource Division III ,Baran Construction of Hathiyadeh Medium Irrigation Project in Baran District, Rajasthan State-reg. (Proposal no :- FP/RJ/IRRIG/27263/2017)

NFL 17.66 ha

Sr. No.	Details of Work	Rate Per Hectare	Land (NFL) Area (In Ha)	Amount (In Rupees)
	0 Years (Advance Action)	282086	17.66	4981639
1	1st Year (Planting Year)	149444	17.66	2639181
3	2nd Year Maintenance (Year- 2)	68683	17.66	1212942
. 4	2nd Year Maintenance (Year- 3)	37033	17.66	654003
5	Subsequent Maintenance (Year-4)	25092	17.66	443125
6	Subsequent Maintenance (Year-5)	26051	17.66	460061
7	Subsequent Maintenance (Year-6)	27010	17.66	476997
8	Subsequent Maintenance (Year-7)	27010	17.66	476997
9	Subsequent Maintenance (Year-8)	27010	17.66	476997
10	Subsequent Maintenance (Year-9)	27010	17.66	476997
11	Subsequent Maintenance (Year-10)	27010	17.66	476997
12	Subsequent Maintenance (Year-11)	27010	17.66	476997
13	Subsequent Maintenance	27010	17.66	476997 13729926
	(Year-12) Amount for CA (As per Approved Model) 198000/- per Ha		Round off Amount as per CA Model (NFL)/-	13123720

नोट :- प्रत्यावर्तित भूमि <u>17.66</u> है0 है परन्तु दो तिहाई भाग पर प्राकृतिक सघन वन होने से वृक्षारोपण कराया जाना संभव नहीं है। परन्तु सर्म्पूण प्राप्त गैर वन भूमि का उपचार कराया जायेगा। वृक्षारोपण हेतु अवशंप भूमि पर 6481 पीधो का वृक्षारोपण NFL माडल से कराया जायेगा एव अवशेष पोधो का वृक्षारोपण परिभाषित यन भूमि पर DFL माङल के अनुसार कराया जायेगा ।

١

उप वन संरक्षक बरां

RajKaj Ref 9554557 Signature yalid

Digitally signed by Anil Yumar Yadav Designation Reputy Conservator Of

6:13:56 IST Forest Date: 2024.08.86 Reason: Approved